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Section A

Questions 1 to 14 carry 1 mark each.

Foregeh question, four epfions:are given:

One of them is the coriect answer.,

Chowse the.correct.answer and write its number (1, 2, 3 or 4) in the

bratiets.{ ) provided. (Total: 14 -rhaiks)
1. \What is the missing number in the box?

34+3 =1 2

(1) 31 (2) 36

3) 37 4y 38 ( - )

2. What is the difference between 56 and 217

(1) 3tensSones (2) 3tens7 ones
(3) 4tens4ones (4) 7tens7 ones ( )



What is the time shown on the clock?

(1) 5o¢clock . (2) Halfpasts . = .
(3) 6 o'clock (4) Halfpast6 (

There are 6 dolls in each. pox. .
Anne has to find the tetal Aumber of dolls.in all the 5 Boxes.
Which one of the following is.in sorrect 7

T

(1) 6x6x6x6x6 (2) 5 groups of six
(3) 6+6+6+6+6 (4) 5sixes (

Mr Loh caught 8 fish on Monday.
He caught 9 fish on Tuesday and 4 fish on Wednesday.
How many fish did he catch altogether?

(1) 13 @) 17
(3) 20 @) 21 (




Mrs Peh has 57 English storybooks and 32 Chinese

storybooks. ‘
How many storybooks does Mrs Peh have altogether’?

(1) 25 (2) 85 :
(3) 89 (4) 98 ( j

16 mere girfs tham boys took partin a eomipetition.
If 38 boys tosk paft how many gxrls took part n the
. competmen? : R

(1) 22 | (2) 44
@ 5 (4) 46 ( )

Farmer Brown put 68 eggs in a basket.

‘Hé broke 9 eggs.
Hew many eggs were left in the basket?

(1) 59 (2). 61 o
3y 77 (4) 78 (

There were 51 flowers in a vase.
Aminah put andtfier 39 flowers into the vase _
. How many flowers were there in the vase'in the end?

(1) 19 () 28
(3) 80 (4y 90 _ ( )

Y



10.

11.

if the crabs are placed in 4 groups, how many crabs will

there be in each group?

Misha wants to buy balloons to g:ve to her 7 fnends during

her birthday parly
She wants to give 2 balloons to each frlend as shown in the

'ﬁgure below.
How many balloons: does she have to buy for her friends?

(3) 14 4y 16 { )




12.  Mrs Mohan bakes vanilla and chocoiéte cupcakes.
She will only use one type of cream on each cupcake.
She:can use red, blue, yeliow or green cream to decorate the

cupcaices.
Howrmany different combinations are there?

---------------------------------------------------------------

i Vanita__; i Chocolate ;
Cupcake
1) B 2) 7
3) 6 3) 4 ( )

13. What is the missing number?

(1) 6 2) 7
(3) 8 | (4) 11 ( ) ¥4



14. Ali made a graph to show how his friends go 10 school.

Motorcycle Car . Bus

Each symbol stands for 1 child.

How mény more children go to school by bus than by taxi?

(1 S (2) 2
7 “4) 9 (




Section B

Questions 15 to 24 carry 2 marks each.
Show your working clearly in the space provided for each questlon and

write your answer in the blank proviaed.
(Totat: 2@marks)

15, a'); White 4 tens 8 ones ifr pemerdals.

b) Write 97 in words.

16. Arrange the numbers below in order, beginning with the
smiallest. '

Smallest

17. Rrﬁg the frogs below into 6 equal groups.

QOOOO00S
SasasaaLacagada
S$Caa sl

7
13



18. Study the pictures below.
Write-a multiplication sentence.

o)

19. How many fewer lemons than bears are there?

Ans:
20. Madam Rosnah had 90 hats.
After selling-some-hats; she had 27 hats left.
How many hats did she sell?
Ans:




21. The pictures below show part of Joshua’s day.
Match the pictures fo the correct times shown on the clock

faces.

Waké§up: | | Walksschool | |- Beaeueshome:
.6 TFCIOEK | Halfpast® 2 o'clock

:» DE

ERT

Monday

Tuesday

Wednesday

Thursday

Friday

Each stands for 1 book.

What was the total number of books he read on Tuesday,
. Thursday and Friday?

Ans:

w3



23. MrLim has 3 sons.
He bought 9 toy cars for each son.
How many toy cars did he buy in all?

Ans:

24. Gerald reached the. library at half past 1.
He jeft-the library.befére 3:-0'clack.
Cir¢le tie cloek that shows the time Gerald left the library.

10




Section C
Questions 25 to 28 carry 4 marks each.

Do these word problems carefully.

Show your working clearly in the space provided for each question.

25.

o

Mr Tan picked 40 oranges
He threw away 28 rotten oranges

a) How many oranges had he left?

He had oranges left.

I

b) Mr Tan packed the remaining oranges into the bags

below.
Draw an equal number of oranges in each bag to show

the humber of oranges Mr Tan packed into each bag.

Mr Tan packed oranges into each bag.

11

iy



26.

There are 6 cows in a barn.

a) How many legs-do the cows have altogether?

They have legs altogether.

b) There is also a duck in the barn.
Hew:-many morelegs-deo all-the cows. have than the
duck?

The cows have ___more legs than the duck.

12




97 Mrs Chew did a survey with her 30 pupils.
She asked them which country they would like to visit during

the December holidays.

America

:'Brgz‘if. - A A |

Denmark' B /\ /\ /\ /\/\ /\

Engiand A AA A ‘

France

Each A stands for 1 pupil.

a)

b)

2 more pupils would like to visit France than America.
Draw in the tfianglgs ( /.\ ) o shew the number of pupils
who chose America-and France. (2m)

more pupils would like to visit China than
England. (1m)

14 pupils chose to visit Brazil, China and

(1m)

13}

13



28. A carpenter made 3 chairs on Day 1-
On Day 2, he made 7 chairs.
On Day 3, he made 11 chairs.
At this rate, how many chairs willi he make on Day 67

Day 1 2 I 3 4 )
Number of
_chairs.
He will make chairs on Day 6.

@ End.of Paper ©
Please Gheck Carefully

14




Answer

- -~
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3 1 2 1 4 3. -3 1 4 3 3 1 3 1

15)a)48 Db)ninety-seven 16)27, 56,65, 71

18)6 x 5 = 30 19)2 20)63

21%
25)a)d0 — 28 = 12

He had oranges left.
b)

22)12 23)27 24)0 x x

Mr Tan packed 3 oranges into each bag.
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Answer Key


26)a)12 + 12 = 24
They have 24 legs altogether.

b)24 ~2 =22

The cows have.22 more legs than the duck.

27)a)America : AAA
France: AAAA
b4 -

c)England

28)3,7,11,15,19 ,23
He will make 23 chairs on Day 6.
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